Revision 3 – Property, Plant and Equipment (HKAS 16) and Investment Properties (HKAS 40)
I.
Summary

A.
Property, Plant and Equipment (PPE)
1.1
Definition –
(a)
are held for use in the production or supply of goods or services, for rental to others, or for administrative purposes; and

(b)
are expected to be used during more than one period.

1.2
Recognition –
(a)
it is probable that future economic benefits associated with the asset will flow to the entity; and

(b)
the cost of the asset can be measured reliably.

1.3
These recognition criteria apply to costs incurred initially as well as subsequent expenditure.
1.4
Measurement at recognition –
(a)
at costs

(b)
component of costs:
(i)
its purchase price, including import duties and non-refundable purchase taxes, after deducting trade discounts and rebates;

(ii)
any costs directly attributable to bringing the asset to the location and condition necessary for it to be capable of operating in the manner intended by management; and 

(iii)
the initial estimated of the costs of dismantling and removing the item and restoring the site on which it is located, the obligation for which an entity incurs either when the item is acquired or as a consequence of having used the item during a particular period for purposes other than to produce inventories during that period.
1.5
Subsequent costs –
(a)
Costs of day-to-day servicing of PPE, primarily the costs of labour, consumables and small parts, have to be recognized in income statement as incurred.

(b)
Costs of servicing an asset, when that servicing is part of a major overhaul or inspection (regardless of whether parts of the item are replaced) should be treated as a component of the cost of an asset and depreciated over the period until the next servicing.

(c)
Some major components/parts of PPE may required replacement at regular intervals – as separate assets with different useful lives from those of PPE to which they relate.
1.6
Measurement after recognition –
(a)
Cost model – is that PPE should be carried at cost less accumulated depreciation and any accumulated impairment losses.
(b)
Revaluation model – is that PPE should be carried at a revalued amount being its fair value at the date of revaluation less any subsequent accumulated depreciation and subsequent accumulated impairment losses.

(i)
Revaluations should be made regularly so that the carrying value does not differ materially from its fair value at the reporting date.

(ii)
The frequency of revaluation therefore depends on the volatility of the fair value.

(iii)
When an item of PPE is revalued, the entire class of PPE should be revalued.

(iv)
Increase in revaluation is recognized in other comprehensive income and accumulated in equity under the heading of revaluation surplus.

(v)
Decrease in revaluation is recognized in other comprehensive income to the extent of any credit balance existing in the revaluation surplus existing in the revaluation surplus in respect of that asset.
(vi)
Following revaluation, the depreciation charge should be based on the revalued amount.

1.7
On the disposal of a revalued asset, the gain on disposal will consist of two elements:
(a)
Sale proceeds less the carrying amount on the date of sale, and

(b)
the revaluation surplus on the date of disposal.

1.8
The revaluation surplus should be transferred to retained earnings when the surplus is realized.
1.9
Depreciation period – an entity is required to begin depreciating an item of PPE when it is available for use and to continue depreciating it until it is derecognized, even if during that period the item is idle.
B.
Investment properties (IP)
1.10
Definition – IP is property (land and/or building) held (by the owner or by the lessee under a finance lease) to earn rentals or for capital appreciation or both.

1.11
Examples of IP
(a)
land held for long-term capital appreciation rather than for short-term sale in the ordinary course of business.

(b)
land held for a currently undetermined future use. (If an entity has not determined that it will use the land as owner-occupied property or for short-term sale in the ordinary course of business, the land is regarded as held for capital appreciation.)

(c)
a building owned by the entity (or held by the entity under a finance lease) and leased out under one or more operating leases.

(d)
a building that is vacant but is held to be leased out under one or more operating leases.
1.12
Exceptions of IP

(i)
Owner occupied property. The property is being held for use (as a factory or office) and not for its investment potential. It should be accounted for under HKAS 16. Property occupied by another group company would come under this heading.

(ii)
Property held for sale in the normal course of business (e.g. a house builder) is inventories accounted for under HKAS 2.

(iii)
Property being constructed for third parties is accounted for as a construction contract under HKAS 11.

(iv)
Property being constructed or developed for future use as investment property. This will be accounted for as capital work in progress under HKAS 16 until the asset is finished and transferred to investment properties.
1.13
Dual use properties – Some properties nay have a dual use, i.e. part of the property is used as investment property and part of the property is held for own use. HKAS 40 sets out requirements in respect of whether any part of a dual use property can be regarded as investment property. These requirements are that where properties have dual use, the investment property part will only be classified as investment property if one of the following conditions is met:
(a)
the portions could be sold separately (or leased out separately under a finance lease); or

(b)
the portion held for own use is an insignificant part of the property as a whole (in which case the whole property is classified as investment property).
1.14
Recognition –
(a)
it is probable that future economic benefits associated with the investment property will flow to the entity; and

(b)
the cost of the IP can be measured reliably.

1.15
Measurement at recognition – same as PPE (refer to point 1.4). However, if the IP is a finance lease, the value should be the lower of the fair value and the PV of minimum lease payments (MLP).
1.16
Measurement after recognition

(a)
Cost model – carried at cost less accumulated depreciation and any accumulated impairment losses.

(b)
Fair value model – the initial recognition and measurement will still be at cost. Subsequent measurement will be at fair value.
All gains and losses on revaluation will be reported in the income statement as part of the profit or loss for the period. And no depreciation is required.
II.
Examination Style Questions

Question 1

Kowloon Property Ltd owns certain land and buildings and the details are listed below:
(i)
The land and building in the course of development are held for re-sale.

(ii)
The land and building in the course of re-development for the use as headquarters of the company, with the building scheduled to be completed by next May.

(iii)
Freehold land is held in Malaysia and has an indefinite useful life and the building is estimated to have a limited useful life. The management estimates that the land retains its value indefinitely.

(iv)
An investment property held for rental purpose.

(v)
A property is partially occupied by the company and the rest is let to a subsidiary of the company. The area of the property occupied by the company is 10%
Required:

Briefly discuss whether depreciation is required for each of the above land and buildings.
(20 marks)


(Amended HKAAT Paper 5 Financial Accounting II December 1995 Q3)
Question 2
(a)
Please answer the following questions with reference to HKAS 40 “Accounting for Investment Properties” and HKAS 16 “Property, Plant and Equipment”.
(i)
Define “investment property” and give exceptions to the definition.


(4 marks)

(ii)
It is generally agreed that an increase in the value of depreciable asset does not remove the necessity to charge depreciation to reflect on a systematic basis the consumption of the asset. Discuss the need for charging depreciation on “investment properties”.
(4 marks)

(iii)
Explain the accounting treatment recommended for land and buildings in the course of development or redevelopment.
(4 marks)
(b)
On 1 January 1995, Sunday Ltd acquired a building for $900,000. The building had a useful life of 30 years and the residual value was assumed to be nil. On 31 December 1997, the building was revalued at $1,200,000. The estimated remaining useful life of the building was revised to be 25 years and the residual value was still assumed to be nil. On 31 December 1999, the building was sold for $1,100,000. The company’s policy is to incorporate building revaluation into its historical account, to provide annual depreciation on building on a straight-line basis, and to transfer an amount equal to the difference between depreciation based on the revalued carrying amount of the asset and depreciation based on the asset’s original cost from revaluation reserve to retained earnings.
(i)
Assume that Sunday Ltd used the buildings as its office. Prepare journal entries required on 31 December 1997, 1998 and 1999.
(9 marks)

(ii)
Assume that Sunday Ltd leases its building to produce a rental income negotiated at arm’s length. Prepare journal entries required on 31 December 1997, 1998 and 1999.
(4 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Financial Accounting II December 2000 Q5)
Question 3

(a)
Answer the following questions with reference to HKAS 40 “Accounting for Investment Properties” and HKAS 16 “Property, Plant and Equipment”.

(i)
It is generally agreed that an increase in the value of a depreciable asset does not remove the necessity to charge depreciation to reflect on a systematic basis the consumption of the asset. Discuss the need for charging depreciation on “investment properties”.
(4 marks)

(ii)
Under HKAS 16, enterprises continue to have the option to carry fixed assets at valuation or at depreciated original cost. If enterprises take the option to revalue assets, explain the accounting practice with respect to revaluation requirements and the related depreciation charge and revaluation surplus/deficit.
(8 marks)

(b)
Solar Estate Ltd owned the following properties at 31 December 2000:

	
	Purchase date
	Cost
	First let
	Market value at 31 Dec 2000

	
	
	$000
	
	$000

	Sun House
	1 Oct 1999
	10,000
	1 Nov 1999
	11,500

	Earth House
	2 Oct 1999
	15,000
	1 Dec 1999
	14,500

	Moon House
	1 Oct 1997
	25,000
	15 Nov 1997
	15,000

	Star House
	1 Oct 1999
	35,000
	
	38,000


The company uses Star House as its office. All other properties are let at full market rental, and Moon House is let to a wholly owned subsidiary. All current values are estimated based on the directors’ past experience in the property market.

The company’s policy is to provide annual depreciation on buildings at 2% on cost. A full year’s depreciation is to be provided in the year of acquisition.

Required:
(i)
Explain which, if any, of these properties is/are likely to be an investment property, and what additional information you may require before reaching a final conclusion.
(4 marks)

(ii)
Explain how these properties would be dealt with in the financial statements of Solar Estate Ltd for the year ended 31 December 2000.
(7 marks)

(iii)
If Star House were only partially occupied by Solar Estate Ltd as an office and the rest were rented out to outsiders, what would the accounting treatment be?



(2 marks)



(Total 25 marks)



(HKAAT Paper 7 Advanced Accounting Pilot Paper 2001 Q4)
Question 4
Answer the following questions with reference to HKAS 16 “Property, Plant and Equipment”.
(a)
Explain:

(i)
the meaning of property, plant and equipment and the criteria for recognition of property, plant and equipment as an asset; and
(4 marks)

(ii)
how the initial cost of property, plant and equipment should be measured.


(4 marks)

(b)
The following schedule of the movement of plant has been drafted for Hanford Ltd the year to 31 December 2001:

	
	Cost
	Depreciation

	
	$’000
	$’000

	Balance at 1 January 2001
	1,624
	650

	Additions at cost (note 1)
	460
	

	Depreciation for the year
	
	396.8

	Disposal (note 2)
	(100)
	

	Balance at 31 December 2001
	1,984
	1,046.8


Notes:

(1)
The addition to plan is made up of the following:

	
	$’000
	$’000

	Basic list price of plant
	420
	

	Less: Trade discount
	(63)
	

	Early settlement discount
	(7)
	350

	Refundable sales tax
	
	10.5

	Ancillary costs:
	
	

	Shipping and handling costs
	
	4.5

	Installation costs
	
	10

	Pre-production testing
	
	12.5

	Three-year maintenance contract
	
	34

	Site preparation cost
	
	

	Electrical cable installation
	21
	

	Concrete reinforcement
	6.25
	

	Own labour costs
	11.25
	38.5

	
	
	460


Hanford had incorrectly specified the power loading of the original electrical cable to be installed by the contractor. The company incurred $9,500 to correct this error; this is included in the above figure of $21,000.

The plant is expected to last for 10 years. At the end of this period compulsory ocsts of $20,000 will be incurred to dismantle the plant and $5,000 to restore the site to its original condition/

(2)
The disposal figure of $100,000 is the proceeds from the sale of an item of plant during the year. The plant had cost $300,000 on 1 January 1998 and had been correctly depreciated prior to disposal.

(3)
Hanford charges depreciation of 10% per annum on the cost of plant held at the year end.

Required:

(i)
Calculate the amount at which the initial cost of the addition to the plant should be measured.
(10 marks)

(ii)
Calculate the accumulated depreciation on the plant disposed of.
(1 mark)

(iii)
Prepare a corrected schedule of the movements on the cost and depreciation of plant.
(6 marks)



(Total 25 marks)


(Adapted HKAAT Paper 7 Advanced Accounting December 2002 Q.C2)

Question 5

Action Limited purchased a plant from another company in the same industry on 1 October 2004; details of purchase price and other related costs which the plant incurred in the year of purchase are presented in Table 1 below:

Table 1

	
	$
	$

	Purchase price of plant
	
	1,920,000

	Other incidental costs:
	
	

	Shipping costs and handling charges
	22,000
	

	Costs of pre-production testing
	100,000
	

	Contract costs for 3 years’ maintenance
	192,000
	314,000

	Site preparation costs:
	
	

	Installation costs of electrical cable
	112,000
	

	Costs of concrete reinforcement
	36,000
	

	Labour costs allocated to site preparation
	60,000
	208,000

	Total purchase price and related costs of plant
	
	2,442,000


The following information is also available:

1.
Action Limited obtained a trade discount of 15% from the supplier on the purchase price of the plant.

2.
Action limited paid for the plant within 30 days after the delivery; as a result, a cash discount of 3% on purchase price for early settlement had been obtained from the supplier.

3.
During the process of pre-production testing, it was found that Action Limited had incorrectly specified the power loading of the original electrical cable to be installed by the contractor. The costs of correcting this error of $48,000 were incurred on 10 October 2004 and are included in the total electrical cable installation of $112,000 (see Table 1 above).

4.
The estimated useful life of the plant is expected to be 10 years. Since the plant was specially designed for Action Limited, it was expected that it will not have any residual value by the end of its useful life.

5.
After the expiry of the 10-year period, Action Limited must dismantle the plant and restore the site to its original condition before handling it over to the landlord. The costs of dismantling the plant would be $120,000 and the costs to restore the site would be $24,000.

6.
It is the policy of Action Limited to apply the straight-line method to the depreciation of this type of plant.

7.
Action Limited has a financial year end of 30 September.

Required:

(a)
Calculate the amount at which the initial cost of the plant should be measured and explain the rationale behind your calculations.



(6 marks for calculating the initial cost of plant and 6 marks for the rationale, total 12 marks)

(b)
Explain the circumstances in which subsequent expenditure on those assets should be capitalized and provide TWO examples for these circumstances.
(5 marks)

(c)
Explain how an item of property, plant and equipment should be measured after initial recognition.
(8 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting June 2006 Q.C2)
Question 6

(a)
HKAS 40 “Investment Properties” deals specifically with property assets that are held as investment, the disposal of which would not materially affect any manufacturing or trading operations of the reporting enterprise.

Required:

Describe the accounting treatment for investment properties
(5 marks)

(b)
HKAS 16 “Property, Plant and Equipment” specifies the appropriate accounting treatment for tangible non-current assets, including measuring the cost of assets, and determining how they should be depreciated and revalued.

Required:
Explain the requirements regarding:

(i)
the revaluation of non-current assets;
(2 marks)

(ii)
the accounting treatment of surpluses and deficits on revaluation; and


(4 marks)

(iii)
the accounting treatment of gains and losses on disposal.
(2 marks)

(c)
On 1 January 2001, Heywood Ltd acquired a building for $1,200,000. The building had a useful life of 12 years. The company’s policy is to incorporate building revaluation into its historical account at the end of every year, to provide annual depreciation on building on a straight-line basis, and to transfer an amount equal to the difference between depreciation based on the revalued carrying amount of the asset and depreciation based on the asset’s original cost from revaluation reserve to retained earnings. The market values of the building on 31 December 2001 and 2002 were $1,155,000 and $875,000 respectively. The existing balance on the revaluation reserve at 1 January 2001 was $250,000. This related to some non-depreciable land whose value had not changed significantly since 1 January 2001.

Required:
Prepare extracts of the financial statements of Heywood Ltd for the years to 31 December 2001 and 2002 in respect of the building. Ignore any tax implications.
(6 marks)

(d)
Property Investment Ltd acquired three properties on 1 January 2001, all of which are let on normal commercial terms. Property A is let to a subsidiary while properties B and C are let to unrelated companies. The company’s policy is to revalue its properties at the end of each year, to restate investment properties to the fair value (i.e. using fair value model) and to carry all non-investment properties at cost less accumulated depreciation. Details of the valuations are:

	Property
	Cost
	Value at 31 Dec 2001
	Value at 31 Dec 2002

	
	$’000
	$’000
	$’000

	A (useful life 50 years)
	900
	1,440
	1,200

	B (useful life 50 years)
	720
	1,080
	870

	C (useful life 15 years)
	740
	840
	920


Required:
Prepare extracts of the financial statements of Property Investment Ltd (including the investment property revaluation reserve) for the year to 31 December 2002 in respect of the above properties. Ignore any tax implications.
(6 marks)


(Total 25 marks)


(Adapted HKAAT Paper 7 Advanced Accounting December 2003 Q.C3)

Question 7
Purple Limited owns 3 properties – Able House, Cable Square and Escort Building – which were purchased on 31 December 2002. The costs and market value at following year ends for the three properties are as follows:

	
	Cost

$000
	Market value at 31 Dec 2003

$000
	Market value at 31 Dec 2004

$000
	Unexpired term of lease from 21 Dec 2004
	Estimated useful life from 1 Jan 2003

	Able House
	3,890
	3,524
	3,230
	43 years
	12 years

	Cable Square
	1,512
	2,268
	1,827
	43 years
	20 years

	Escort Building
	1,512
	1,764
	1,890
	15 years
	15 years


All these properties are rented out, at market rate, on annual contracts to the unrelated parties, other than Able House which is rented to a subsidiary of Purple Limited. The director of Purple Limited considers that all the 3 properties should be included in the balance sheet at market value rather than at cost and also no annual depreciation should be charged to profit and loss because all of them are held for generating rental income.

For all items of property, plant and equipment, it is the policy of Purple Limited that such items should be depreciated using the straight-line method based on the estimated useful life of the asset. A full year’s depreciation is charged in the year of acquisition and none in the year of disposal.

Purple Limited has chosen the cost model and fair value model to recognize and to measure all of its property, plant and equipment and investment property respectively.

Required:
(a)
Provide a definition of an “investment property”.
(4 marks)

(b)
Do you agree with the accounting treatments suggested by the director of Purple Limited? Justify your view.
(9 marks)

(c)
Show the extracts from the income statement and balance sheet of Purple Limited that are concerned with accounting for the properties for the year ended 31 December 2004. (Figures presented on the income statement and balance sheet extracts should be rounded up to the nearest thousand. Show all workings.)
(12 marks)



(Total 25 marks)



(Amended HKAAT Paper 7 Advanced Accounting June 2005 Q.C1)

Question 8
Plenty Limited owns two properties as well as its production plant and office premises. One property is a residential apartment block and the other an office block. Plenty Limited has a year-end date of 30 June. The total assets and profit before tax for the year ended 30 June 2005 were $43 million and $4.29 million respectively. It is management’s intention to adopt HKAS 16 “Property, Plant and Equipment” and apply the allowed alternative treatment for all property, plant and equipment and to adopt the fair value model for all investment properties in Plenty Limited. The finance manager of Plenty Limited is now preparing the company’s consolidated financial statements and has doubts on the appropriate accounting treatment for the apartment block.

The apartments are leased out, on an annual basis, to a subsidiary as accommodation for its overseas employees starting from 1 July 2004. Before 1 July 2004, the whole apartment block was rented to an outsider at market rent. The fair value of the apartment block was included in the balance sheet as at 30 June 2003 and 2004 at its fair values of $7 million and $9 million respectively. On 30 June 2005, the apartment block was included in the balance sheet at an open market value, based on the report of an independent surveyor, which was $3 million in excess of its carrying amount: this excess has been credited to the profit and loss account. The apartment block’s remaining useful life was estimated to be 14 years at 30 June 2005.

Required:

The following questions should be answered in accordance with the requirements of HKAS 16 “Property, Plant and Equipment” and HKAS 40 “Investment Property”.

(a)
Describe the differences between the accounting treatment for investment properties and owner-occupied properties and discuss why such differences are necessary.
(5 marks)

(b)
Discuss the appropriate accounting treatment of the asset given in the question and prepare the journal entries for the year ended 30 June 2004 and 30 June 2005. Narrative is required for the journal entries. (Ignore the deferred tax effects.)



(8 marks for discussion of accounting treatment and 12 marks for the journal entries, total 20 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting December 2005 C2)

Question 9
Action Limited purchased a plant from another company in the same industry on 1 October 2004; details of purchase price and other related costs which the plant incurred in the year of purchase are presented in Table 1 below:

Table 1

	
	$
	$

	Purchase price of plant
	
	1,920,000

	Other incidental costs:
	
	

	Shipping costs and handling charges
	22,000
	

	Costs of pre-production testing
	100,000
	

	Contract costs for 3 years’ maintenance
	192,000
	314,000

	Site preparation costs:
	
	

	Installation costs of electrical cable
	112,000
	

	Costs of concrete reinforcement
	36,000
	

	Labour costs allocated to site preparation
	60,000
	208,000

	Total purchase price and related costs of plant
	
	2,442,000


The following information is also available:

1.
Action Limited obtained a trade discount of 15% from the supplier on the purchase price of the plant.

2.
Action Limited paid for the plant within 30 days after the delivery; as a result, a cash discount of 3% on purchase price for early settlement had been obtained from the supplier.

3.
During the process of pre-production testing, it was found that Action Limited had incorrectly specified the power loading of the original electrical cable to be installed by the contractor. The costs of correcting this error of $48,000 were incurred on 10 October 2004 and included in the total electrical cable installation of $112,000 (see Table 1 above).

4.
The estimated useful life of the plant is expected to be 10 years. Since the plant was specially designed for Action Limited, it was expected that it will not have any residual value by the end of its useful life.

5.
After the expiry of the 10-year period, Action Limited must dismantle the plant and restore the site to its original condition before handling it over to the landlord. The costs of dismantling the plant would be $120,000 and the costs to restore the site would be $24,000.

6.
It is the policy of Action Limited to apply the straight-line method to the depreciation of this type of plant.

7.
Action Limited has a financial year end of 30 September.

Required:

(a)
Calculate the amount at which the initial cost of the plant should be measured and explain the rationale behind your calculations.



(6 marks for calculating the initial cost of plant and 6 marks for the rationale, total 12 marks)

(b)
Explain the circumstances in which subsequent expenditure on those assets should be capitalized and provide TWO examples for these circumstances.
(5 marks)

(c)
Explain how an item of property, plant and equipment should be measured after initial recognition.
(8 marks)

(Your answer should be in line with HKAS 16 “Property, Plant and Equipment”.)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting June 2006 C2)

Question 10
Sky Property Ltd. engages in the business activities of property development and investment. During the 2008 financial year, the following transactions or events took place. The company’s balance sheet date falls on 31 December 2008.

(1)
On 1 May 2008, a plot of land with a price of $420m was purchased at auction. It is leasehold land with an unexpired term of 50 years. The company intends to develop the site into a grade A office tower for its own headquarter operation. No construction activities had commenced at balance sheet date.

(2)
A villa property, which is for rental purpose, suffered severe damage due to a major landslide occurring to a hill slope adjacent to the property. Tenants were vacated subsequent to a danger warning issued by the Housing Department.

According to an independent valuation, the fair value of this property is $90m as at 31 December 2008. The book value of this property is $120m, which represented fair value as at 31 December 2008. Slope reinforcement has been completed and the company will place the villa property on the rental market once again.

(3)
A freehold property with a net book value of $100m as at 31 December 2007 was occupied by the company’s research department. On acquisition, the company paid $40m for land and $80m for building, and the estimated useful life of the building was 20 years.

On 1 January 2008, the property was revalued to $160m, which comprised land value of $70m and building value of $90m.

Sky Property Ltd. will measure this property at valuation on balance sheet date as at 31 December 2008. Estimation of the useful life of the building on acquisition remains unchanged. Fair value of the property as at 31 December 2008 is the same as the value a year ago. The company does not realize the excess depreciation.

(4)
A road-show to promote a residential development will be held in early 2009. The construction activities have largely been completed and the balance of costs carried in the books is $1,900m. In view of the economic downturn and slump in the property market, it is estimated that the whole project will realize a loss of $400m.

Note: Full year depreciation is required for properties that are acquired during the year.

Required:

(a)
In accordance with the Hong Kong Accounting Standards, explain whether depreciation is required and also the classification of each of the above items.
(8 marks)

(b)
Prepare journal entries to account for each of the above items in the financial statement of Sky Property Ltd. for the year ended 31 December 2008.
(7 marks)

(c)
Prepare extracts of statement of comprehensive income and statement of financial position of Sky Property Ltd. to report the above properties for the financial year ended 31 December 2008.
(6 marks)

(d)
Explain the reasons of providing depreciation for property, plant and equipment.
(4 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting December 2009 C3)
P. 4

